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BiEx AR ESHE TR RREDSHENER
% # s - BRHE By g {i & & 1

BRI 117,841,803 + 13, 343, 255 131,185, 058
EEAGE 117,841, 803
EERE 13,343, 255
T O R 117,841,803 x 42.86% ( 30% =~ (1 — 30%) ) 50, 506, 996
RHRME 131,185,058 + 50, 506, 996 181, 692, 054
—REEEE 181,692,054 x 53.85% ( 35% + (1 — 35%) ) — 3,225 97, 837, 946
KBS 181,692, 054 + 97,837, 946 279, 530, 000
R EE ] 279,530,000 x 10.00% 27,953, 000
EBEREN 279, 530,000 + 27, 953, 000 307, 483, 000




BEANRE KRB S TR R RSB 275

% R Bg - AR BfL % B B ' # =
EHER 131,185, 058
KIREZRE TR RHEREHEIES 131,185, 058
KIREZRE TR RHEREHEIES 131,185, 058
EEAGE 117, 841, 803
%I#ﬂiiﬂﬁﬁ?&?ﬁﬂt%?ﬁ&lﬁﬁ BERENE 117,096, 603
1 BIKREDHNEBRUCREERAE 24.00 4,609, 680 110, 632, 320
BT A
2 MIKREIFADEBRUCARERESRHE /\EEE BUEHE 1.00 6, 464, 283 6,464, 283
BT %
I
E3N=hc) 662, 400
JITEHE 24.00 21, 600 662, 400
3]
ek - |E 82, 800
4 EATHE 1.00 21, 600 27, 600
3]
5 hREHE 1.00 21, 600 27, 600
3]
6 RIR|E 1.00 21, 600 27, 600
3]
EEZE 13, 343, 255
EHAME 1,152,418
1 EBRARE 1.00 1,152,418 1,152,418
=
BEERERRE 2,304, 837
BEERERRE 1.00 2,304, 837 2,304, 837
=




BEARE ARBERTIRREREHBER

EEAEHBESHRUVEGES 3,600, 000
) XX AEBESHRVEGES 1.00 3,600, 000 3,600, 000

=
EBERERE 190, 000
10 ¥%RERE 1.00 190, 000 190, 000

=
EEASHEEHRUBRES 6, 096, 000
N ¥%XAEHEEHRUBRES 1.00 6, 096, 000 6,096, 000

=
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KIREFE TR SHBES

&5 1
£ MIRKAERGHIEBRRUVREERENES 1A&4Y
22 [ g - KT B = B i ] wmE w =
EEEMNE HEmA
A 1.40 55, 200. 00 71,280
e TS HEmC
= 1.00 4,532, 400. 00 4,532, 400
& it 1E%8EH : 1.008 4,609, 680. 00 4,609, 680
&5 2
£ MIKAERGHIEBRRUVREERENER N\EEE HEIFME 1K%Y
22 b3 B - IR =-Liv] = B i £ W E " =
e TS HERC (J\E)
A 2.10 755, 400. 00 1,586, 340
e TS HEAC (J\E : 225 ~278F)
A 5.90 826, 770. 00 4,877,943
& it 1E%8EH : 1.00=K 6,464, 283. 00 6, 464, 283
&5 :3
&% 1AL 1mHY
2 b3 & - KT B = B i ] W E " =
EEEMNE HEMA
A 0.50 55, 200. 00 217,600
& it YEZERESR : 1.00[E 27, 600.00 217,600
EFS . 4
275 . BATE 1EHY
22 [ R - KT B = i 2 W E H =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it YEZERESR : 1.00[E 27, 600.00 217,600




REER-FEL/ \vr—> KIS S TR R RS AR 2%

EFS:5
& PREERE 1mEHY
22 [ g - KT B B = B i ® 5 wmE w =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
&S .6
275 RERBE 1mEHY
22 [ g - KT B = B i ® 5 W E " =
EEREMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
&5 1
&% EHARE IEED
22 b3 B - IR =-Liv] B = B i ® 5 W E " =
EXARE
= 1.00 1,152, 418.00 1,152,418
& it 1E%8EH : 1.00=K 1,152, 418.00 1,152,418
&5 .8
&% EERERREE IEED
22 b3 B - IR =2 iv] B = i ® B W E " =
BEREARE
= 1.00 2,304, 837.00 2,304, 837
& it 1E%8EH : 1.00=K 2,304, 837.00 2,304, 837
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59
2% EBARPEEHRVELRES IEED
22 [ g - KT B = B i ] wmE w =
SA4 kY 1500c ¢ 2%&
A 24.00 150, 000. 00 3, 600, 000
& it 1E%8EH : 1.00=K 3, 600, 000. 00 3, 600, 000
&=:10
2% EBHRERE 1KLY
[ g - KT B = B i ] W E " =
XBHRERERE
= 1.00 190, 000. 00 190, 000
& it 1E%8EH : 1.00=K 190, 000. 00 190, 000
&5 11
2% EBAEHEEHRUERES IEED
22 b3 B - IR =-Liv] = B i £ W E " =
EBASHESHRVERES T E RS
A 16. 00 247, 500. 00 3, 960, 000
EBASHESHRVERES BHUEMETA
A 8.00 267, 000. 00 2,136, 000
& it 1E%8EH : 1.00=K 6,096, 000. 00 6, 096, 000




